
 QP Code : 18UT57ESO5 QP Code : 18UT57ESO5 2  

B.A.-11060-W   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.A.-11060-W  

ÿoˆÁTˆEı YÁPˆy‘] ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á 
 ( B.D.P. Term End Examination )  

◊Qˆ„a∂ëˆÃ[˝, 2017 C L«X, 2018 
( December-2017 & June-2018 ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective Course ) 
a]ÁL◊[˝VÓÁ ( Sociology ) 

Yá˚] Yy ( 5th Paper) 
Rural and Urban Sociology : ESO-5 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ (Time : 4 Hours)  

Y…SÔ]ÁX  f 100 (Full Marks : 100) 

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ( Weightage of Marks : 70% ) 

 
Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for accuracy and relevance 
in the answer. Marks will be deducted for incorrect 

spelling, untidy work and illegible handwriting. 
The weightage for each question has been 

indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) XGÃ[˝L›[˝„XÃ[˝ Y“W˝ÁX È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* 
 (F) c˜O=„Ã[˝ÁY C %Á„]◊Ã[˝EıÁÃ^ `c˜„Ã[˝Ã[˝ =dY◊w¯ C ◊[˝EıÁ` 

a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
 (G) ÿëˆÃ^ea+…SÔ G–Á] a]ÁL ◊Eı\ˆÁ„[˝ G–Á]›S %UÔX›◊TˆÃ[˝ 

EıÁPˆÁ„]Á G‰QÕˆ T«ˆ„_◊ªK˜_ ? 

 (H) ÿëˆÁW˝›X \ˆÁÃ[˝„Tˆ Yá˚Á„Ã^Tˆ› [˝Ó[˝ÿöˆÁÃ[˝ ◊[˝[˝Tˆ¤„XÃ[˝ 
y‘]ÁX«^ÁÃ^› %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) \ˆÁÃ[˝Tˆ›Ã^ XGÃ[˝L›[˝„X Y◊Ã[˝[˝ÁÃ[˝, ◊[˝[˝Ác˜ C %Á±¡›Ã^TˆÁÃ[˝ 

mÃ[˝”±ºˆ a]Á„_ÁªJÙXÁ]…_Eı \ˆÁ„[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 
(F) G–Á]Áá˚„_ XGÃ[˝ÁÃ^„SÃ[˝ Ã[˝ÁW˝ÁEı]_ ]«FÁLfiÃ[˝ Tˆ√º¯◊ªRÙO 

◊[˝‰`¿bSÁ±¡Eı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(G) AEı ÂEı◊≥V–Eı [˝_Ã^ ]Tˆ[˝ÁV◊ªRÙO ae„l˘„Y [˝SÔXÁ EıÃ[˝”X* 
(H) G–Á] C `c˜„Ã[˝Ã[˝ È[˝YÃ[˝›TˆÓ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 
(I¯) _ÓÁ◊ªRÙOX %Á„]◊Ã[˝EıÁÃ[˝ XGÃ[˝ÁÃ^„SÃ[˝ G◊TˆY“E ı◊Tˆ ae„l˘„Y 

[˝ÓÁFÓÁ EıÃ[˝”X* 
(ªªJÙ˜) \ˆÁÃ[˝Tˆ[˝„bÔ \…ˆ◊]aeïıÁÃ[˝ a+„EÔı AEı◊ªRÙO ªRÙO›EıÁ ◊_F«X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) G–Á]Ó L›[˝„XÃ[˝ CYÃ[˝ XGÃ[˝ÁÃ^„SÃ[˝ ◊Eı Y“\ˆÁ[˝ Y‰QÕˆ ? 
(F) `c˜„Ã[˝Ã[˝ `“◊]Eı Ê`“◊SÃ[˝ ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 
(G) XGÃ[˝ÁÃ^„SÃ[˝ a]aÓÁm◊_Ã[˝ a]ÁW˝Á„XÃ[˝ ]…_ =YÁÃ^m◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
(H) ÂYÏÃ[˝ ]c˜ÁY«t [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 
(I¯) XGÃ[˝ ÂEı◊≥V–Eı aÁ]Á◊LEı %Á„≥VÁ_„XÃ[˝ Ã[˝÷Y ◊XSÔÃ^ 

EıÃ[˝”X* 
(ªJÙ) \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ Y◊Ã[˝[˝ÁÃ[˝ [˝Ó[˝ÿöˆÁÃ^ Y◊Ã[˝[˝Tˆ¤X`›_TˆÁÃ[˝ 

G◊TˆY“E ı◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(ªK˜) XGÃ[˝ÁÃ^„SÃ[˝ a„Ü %◊\ˆLÁTˆ Ê`“S›Ã[˝ ◊[˝EıÁ„`Ã[˝ a+EÔı 

◊XSÔÃ^ EıÃ[˝”X* 
(L) ""G–Á]›S aÁ]Á◊LEı EıÁPˆÁ„]ÁÃ[˝ AEı◊ªRÙO mÃ[˝”±ºˆY…SÔ AEıEı 

c˜_ LÁTˆ*'' [˝ÓÁFÓÁ EıÃ[˝”X* 
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English Version 

 
1. Answer any two questions : 20 × 2 = 40 

(a) Explain the chief features of urban life. 

(b) Discuss origin and development of cities in 
Europe and America. 

(c) How did self-sufficient village community 
construct rural economic structure ? 

(d) Explain the evolution of Panchayati raj 
system in Independent India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Critically explain the importance of family, 
marriage and kinship in Indian urban life. 

(b) Analytically discuss Radhakamal 
Mukherjee's theory of Rurbanisation. 

(c) Briefly explain the Concentric Zone model. 

(d) Differentiate between village and city. 

(e) Briefly discuss the trend of urbanisation in 
Latin America. 

(f) Write a note on Land Reform in India. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What are the effects of urbanisation on 
rural life ? 

(b) Explain the characteristic features of urban 
working class. 

(c) Discuss the basic solution of the problems 
of urbanisation. 

(d) What do you mean by Megalopolis ? 

(e) Discuss the urban centric social movement. 

(f) Critically discuss changing pattern of 
family system in India. 

(g) Discuss the nature of interrelationship 
between urbanisation and development of 
Elite class. 

(h) "Caste is important unit of Rural social 
structure." Explain. 

    


